‘ap?ﬁl&/;g*

+& = KK = 45X 7 =]
g Tl R = v i o)
B &
£ — - = TR 7q
HEA 5H 26 H 5827 H 5H 28 H 5H29H
= - BHE - BHE - BHE
o8 =i @ BH @ 7iE @
FBE R 250 ~ 300 7 250 ~ 300 7 250 ~ 300
EXK TERHE 60 RN LT 85 R 90
=2 AERAE 90 LRI & X 90 Vel 40
Bl3(O) L SaEey = 50 BRI 70 BRI 2 80
Bl3(z) Yol 82 e B 85 R 5 5 85
% P 250 R I % 52 55 250 =N 250
KR EHBK 1 /N 1 FiEDIIN 1
P YA
==
ERIRE(D 6.0 6.0 6.0
TEREM®B 3.0 3.0 3.0
FRSE8() 1.7 1.7 1.7
JKERFE (1D 1.0 1.0 1.0
SHPEHE (D 2.8 2.9 2.6
A mEBE(D 0 0 0
48 (%) 50 50 51
EHE (%) 17 17 17
AEE (%) 33 34 32
HE(KF) 848 852 843

R S B & R - AR EATR L AR




